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Across

3. Give a factor that affects network
protocol processing costs
6. Communications and networking
have changed from telephony to
services
9. A question in all methods and at all
levels of abstraction is regarding the
traffic or used for the
evaluation
10. What is the time latency to deliver
a unit of data over a link or a network ?
12. what network did telephone
networks dictate the development of ?
13. Something through which packets
are sent and received to and from the
network is called a ?
14. What is the acronym for cyclic
redundancy check ?

il

16. Which of the two requirements for
a network is responsible for the
performance ?

18. What does DMA stand for ?

19. What is the minimum amount of
components that a processing system for
a network needs ?

20. What is an example of real time
applications that are interested in
throughput and need a steady packet
delivery

Down

1. Give a cause for packet loss

2. What is an important requirement
that leads to systems and users
perceiving gradual degradation of
network performance under load ?
4. Evaluation in networking is often
based on what type of techniques ?

5. What is the acronym for The
embedded microprocessor benchmark
consortium ?
7. What does IP stand for ?
8. Network systems enable

delivery of application
data
11. How many events are there for
packet reception from a network ?
15. What is the dominating factor in
networks with short fixed-sized packets ?
17. Give an example of a quantitative
parameter ?

Create your own puzzle at WordMint.com or print one of our 500,000+ pre-made word searches, crosswords, and more.



